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Hiim &HE ND ND  ~ 26 —
LEFET Eita ND ND  ~ 95 ND
HER RE 270 50 ~ 300 ND
EEE FEBL 150 40 ~ 240 ND
JIIRF EJIIA ND ND ~ 12 —
_ ABEHT KIR 790 540 ~ 30900 ND
=EEBE AHEHT KJIE 31 27~ 440 ND
WERT B 490 500 ~ 2,100 ND
Cs-134 Ba/keg4 CRITHT JrgtHis 14 19 ~ 160 —
e BEN HE 70 4~ 150 —
EEET R ND ND _ ~ 52 —
REEH BT 140 210~ 570 —
REEH RIE 200 110~ 520 —
JIEET ILKE 42 68 ~ 140 —
. MP— 3tk 620 850 ~ 27,000 ND
BEEERMTE 580 1,700 ~ 220,000 ND
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BER RE 870 110~ 660 ND ~ 092
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A% EJIIA 49 ND  ~ 29 —
KEEET XiR 2,600 1,400 ~ 8,400 ND ~ 0.070
_ REERT KR 110 65 ~ 990 ND ~ 0.080
BEEE WERT EBL 1,600 1,400 ~ 4500 ND ~ 0.14
RITHT JegtHiEs 33 54  ~ 390 ND ~ 0.070
W Cs-137 Ba/kgE EEN R 200 130~ 370 —
EEET R 17 20 ~ 120 ND  ~ 0.030
BREEHT BRTE 440 550 ~ 1,100 —
REEH RIE 620 290  ~ 1,000 —
JIEET IWKE 120 160~ 310 —
EEE— MP—3ftiE 1,800 1,600~ 39,000 ND  ~ 0.040
BETERME 1,400 4700 ~ 310,000 ND ~ 0.14
EaE— PR 18 5 A< 3T 28 30~ 17000 | ND _~ 0.050
LSRR 88 71~ 22840 ND _ ~ 0.060
WhEh AZE 51 4~ 100 —
Hith H@E 370 220 ~ 1,300 —
LEFET T4t 170 140 ~ 2100 ND
BER KR 750 1,200 ~ 3,800 ND
EEE /VE 40 10~ 12,000 ND
JIIRFT EJIA 330 73 ~ 270 —
. B REEET kR 44,000 49,000 ~ 230,000 ND
Ba/kgiT =EEE WERT EBL 8,100 2700 ~ 43,000 ND
RITHT Jbstiss 420 360  ~ 1,600 ND
EEN HE - 1,600 ~ 5600 —
HHET BR 3,600 130~ 4,400 —
Cs-134 EEET &5 2,800 2200 ~ 9200 —
HREEN R 230 6900 ~ 11,000 —
tREEH EIRE - 5900 ~ 6,000 —
JIZEET IWRE - 180 ~ 2100 —
A 45,000 130,000 ~ 330,000 ND
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EFEAT{AEZR 4,300 900 ~ 6,700 84 ~ 12
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